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WHATEVERFIRSTSEARCH(S): L M(’eﬁ
put s into the M %
while the baglis notempty 6&5‘C/b
take v from the bag
if v is unmarked /E/U\L
CQ/ W
mark v —
for each edge vw
put w into the bag

TLLQ_SQ o} Q,SS@?\%C\/ duSJV

Ses %@&Q

HDW Cgmwadggﬂz HCQQP

U < Vv o (owwzc



Cam NS JC&S o> tbm/d N

Soannrs  rea.
/EZ ‘_//C/QC\/C/((C/ 5 Y
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igure 5.12. A depth-first spanning tree and a breadth-first spanning tree of the same graph, both

starting at the center vertex.
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¢ WHATEVERFIRSTSEARCH(S):
RMV\%M - put s into the bag DV )
/—\—) while the bag is mpty l /
take v rom the bag
if v 1Isunmarked
/_\n
\f' . mark v
< for each edge vw

o - putw into the bag
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WHATEVERFIRSTSEARCH(S):
put (&, s) in bag
w& aq while the bag is not empty
take (p,v) from the bag
if v is unmarked

mark v

parent(v) < p

for each edge vw
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()

put (v, w) into the bag (xx)
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CoUuNTCOMPONENTS(G):
count «— 0
for all vertices v
unmark v

for all vertices v
if v is unmarked
count « count + 1
WHATEVERFIRSTSEARCH(V)
return count
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CoUNTANDLABEL(G): ((Label one component))
count <~ 0 LABELONE(V, count):
for all vertices v while the bag is not empty
unmark v take v from the bag
for all vertices v if v is unmarked
if v is unmarked mark v
count « count + 1 comp(v) « count
LABELONE(V, count) for each edge vw
return count put w into the bag







